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Starter
Simplify the following write your positive exponents. 

1. 16x7
     12x­2

Solve the following equations, showing your work! 

2. 2x + 2 = 2x + 1

3. 4x ­ 2 = 8x + 8

4. 26 + 2(x + 1) = 4x ­ 2(x + 9)

5. 6x + 2 + 9x = 2x + 10

A
ns
w
er
s

1. 4x9
     3
2. no solution
3. x = ­5/2
4. no solution
5. x = 8/13

Nov 11­8:03 AM
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Sep 17­9:03 AM

5 points: 10 problems
4 points: 8­9 problems
3 points: 6­7 problems
2 points: 4­5 problems
1 point: 2­3 problems
0 points: 0­1 problems

Completion Points
Accuracy Points

Score = Completion + Accuracy 
Word Problem WKS 2

1) x = 22 (22,23)
2) x = 23 (23,24,25)
3) x = ­45 (­45, ­44)
4) x = 11 (11,13,15,17)
5) x = 20 (20,22)
6) x = 24 (24, 25)
7) x = 3 
8) x = ­7
9) x = 10 (10, 40)
10) x = 25 (25, 55)

Sep 28­2:09 PM

note it is always easier to work with a positive  coefficient so think about that as you solve

-4k       -4k

3k - 2 = 16
    +2     +2

3k = 18
÷3  ÷3

k=6

Math 8 Unit 3
Day 14: Solutions to Equations

Objectives: 

I can tell how many solutions an equation has.  
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How many solutions for x do the following equations have? 

3x + 2 = 2x ­ 10

Try to create an equation where any number would make the 
statement true. (infinite number of solutions)
 

6x + 10 = 6x + 9

Nov 5­2:05 PM

What are characteristics of an equation that has infinite 
solutions? 

Examples Non­examples

Equations with infinite solutions

x + 2 = x + 1

2x ­3 = 2x
2x + 3x ­5 = 5x + 1

5x + 2 = 14x + 2 = 4x + 2
5x + 1 = 3x + 4

9x + 1 = 3x + 6x + 1

8x + 2 = 8x + 2
4x = 4x
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Vocab

Infinite Solutions: Equations that are true 
regardless of the value of the variable have 
infinite solutions. 

Example:  x + 3 = x + 3
             ­x        ­x
                  3 = 3  Infinite Solutions! 

Hint

After eliminating the variables, is the 
statement true? If yes, it has infinite 

solutions.

Nov 5­4:28 PM

Solve each of the following.

1) 2x + 8 = 2x + 8

2) 4x + 9 = 2x ­ 2(x + 10)

3) 2x ­ 3 = 8x ­ 3(2x + 1)

4) 5x + 5 = 5x + 5

5) 4x + 3 = 4x ­ 3

infinitely many solutions

x = ­7.25

infinitely many solutions

infinitely many solutions
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1.3 p. 21B (10­19)
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